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Main__ Program

Set Parameter
Read Input Data (MESHIN)

;

Set Global S(i,j) = 0 and
Right Hand Side RHS(i) = 0

v

IE =1, NELMTS

»‘

Construct Element S and T Matrices
Call ELMATR(IE)

IE=IE+1 l

Assemble Globai Matrix S and RHS

Call ASMBLY (IE)

v

Solve the Equation S * Xnod = RHS

Call EQSOLV

l

I Print Out the Results

l

[ STOP |
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Subroutine ASMBLY

[=1,13

y

IROW = NVTX({L,IE)

!

Yes

Node at [ROW  has a fixed Potential ?

S(IROW,JROW) = 1.0

RHS(IROW) = POTENT{IROW)

» f=1,3

b

ICOL = NVTX(J.[E)

Yes

agde at ICOL has a fixed Potemqial2

RHS{IROW) = RHS(IROW) + Telm(1,J}*SOURCE(IE)
- Selm(I.J)*POTENT({ICOL)

S(IROW.ICOL) = S(TROW.ICOL) - Selm(L.J)
RHS(IROW) = RHS({[ROW) + Teim([.J} = SOURCE(IE)

[ =1+1,J=J -1

[T

| EXIT




